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Li ngui stics 610 Fall 2007

Homewor k #5
Due Tuesday 11/27

5 points (3+1+1)
Wthin the "classic" theory of Subjacency (Chonsky (1973),
present an argunent that IP (= S) is a boundi ng node for
Subj acency in English.
Suppose CP (=S), instead of IP, were a bounding node. What
woul d be the difference in the | anguage?
Suppose both I P and CP were boundi ng nodes. Wat woul d be the
difference in the | anguage?

3 points
Present an argunent for wh-novenment in an 'in situ' |anguage
i ke Chinese or Japanese or Korean. Be explicit!

5 points (3+2)
The | eading idea of Chonsky's Barriers is that every naxi mal
projection is potentially a barrier (thus elimnating the
stipulated list in "Conditions on Transformations"). G ven
this, illustrate and di scuss the "exenptions" that are granted
to permt fully acceptable instances of WH Movenent.
One of the exenptions concerns escape froman XP via adjunction
to it. Discuss howthis exenption nmust be w thdrawn under
certain circunstances.

10 points
Di scuss each of the follow ng exanpl es, explaining as
explicitly as possible their status in terns of rules,
principles, constraints, etc., that we have di scussed. Show t he
rel evant portions of the structures.
(a) VWho do you think (*that) won the race

(b) ??Which car do you wonder who fixed

vs.(c) *How do you wonder who fixed the car

(5)

(d) Who do you think that John said won the race

(e) VWho wonders where we bought what
[Exactly 2 readings: matrix doubl e question (about who
and what) and enbedded single question (about where);
or matrix single question (about who) and enbedded
doubl e question (about where and what)]

3 points
In recent years, Relativized Mnimality has soneti nes been
appeal ed to to explain wh-island effects and Superiority
effects. [The attenpt to relate these two phenonena has a | ong
tradition, beginning in the early 1960's (Chonsky, Current
Issues in Linguistic Theory); and hinted at again in "Conditions
on Transformations (1973).]
- Comment on how RM and the associated Ts ought to be stated if
the two effects are to be conbi ned.




